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Test Information
 

 Test Name MBA CET 2023 Total Questions 100  

 Test Type Examination Difficulty Level Difficult  

 Total Marks 200 Duration 90 minutes  

 
Test Question    Language:- ENGLISH
 

 1. Choose the correct sequence of sentences to create a logical paragraph:             

  

 a.   B, A, C, D

 b.   A, B, D, C

 c.   C, A, B, D

 d.   D, B, A, C

 Answer. b
 

 2. Arrange the following sentences to form a coherent paragraph:       

  

 a.   B, C, A, D

 b.   C, B, A, D

 c.   A, B, C, D

 d.   D, B, C, A

 Answer. b
 

 3. What part of speech is the word "beau�ful" in the sentence: "The beau�ful sunset painted the sky with vibrant colours"

  

 a.   Adjec�ve

 b.   Adverb
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 c.   Noun

 d.   Verb

 Answer. a
 

 4. What is the word for the prac�ce of taking someone else's work or ideas and passing them off as one's own?

  

 a.   Paraphrasing

 b.   Plagiarism

 c.   Quota�on

 d.   A�ribu�on

 Answer. b
 

 5. What is the word for a sudden and violent overthrow of a government, o�en by a military group?

  

 a.   Revolu�on

 b.   Rebellion

 c.   Coup

 d.   Uprising

 Answer. c
 

 6. In the sentence, "She gave her umbrella to him," what are the pronouns?

  

 a.   She and Him

 b.   She and Umbrella

 c.   Her and Him

 d.   She and Gave

 Answer. c
 
 

7. Iden�fy the pronoun in the sentence: "They arrived late because they missed the bus."



10/7/23, 3:00 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*Ko…

https://mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFx… 3/69

  

 a.   They

 b.   Arrived

 c.   Late

 d.   Missed

 Answer. a
 

 8. What is the adjec�ve in the sentence: "The red car sped down the highway."

  

 a.   The

 b.   Car

 c.   Sped

 d.   Red

 Answer. d
 

 9. What is the adverb in the sentence: "He ran quickly to catch the bus."

  

 a.   He

 b.   Ran

 c.   Quickly

 d.   The

 Answer. c
 

 10. What is the antonym of "happy"?

  

 a.   Sad

 b.   Excited

 c.   Joyful
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 d.   Content

 Answer. a
 

 11. Select the synonym for "excited."

  

 a.   Bored

 b.   Enthusias�c

 c.   Calm

 d.   Relaxed

 Answer. b
 

 12. What does the idiom "burning the midnight oil" mean?

  

 a.   Star�ng a fire at night

 b.   Working late into the night

 c.   Going for a nigh�me swim

 d.   Celebra�ng a birthday at midnight

 Answer. b
 

 13. What is the meaning of the idiom "in the same boat"?

  

 a.   Sailing in a boat together

 b.   Facing a common problem or situa�on

 c.   Compe�ng in a race

 d.   Going on a vaca�on

 Answer. b
 

 14. What does the word "friendly" mean?
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 a.   Unkind

 b.   Hos�le

 c.   Pleasant

 d.   Grumpy

 Answer. c
 

 15. What does the word "gregarious" mean?

  

 a.   Shy

 b.   Friendly and sociable

 c.   Isolated

 d.   Aggressive

 Answer. b
 

 

16. Read the following and based on it answer the ques�on”

“Mohan loves to read books. He spends most of his free �me at the library, exploring various genres. He believes that books are a
gateway to different worlds and ideas. Mohan's favourite books are adventure stories.”

Ques�on:

What is Mohan's favourite genre of books?

  

 a.   Mystery

 b.   Romance

 c.   Adventure

 d.   Biography

 Answer. c
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17. Read the following and based on it answer the ques�on”

“Rashmi decided to spend the day at the park. She packed a picnic basket with sandwiches, fruit, and lemonade. At the park, she found
a cozy spot under a tree and enjoyed her picnic. A�erward, she read a book and took a nap in the shade.”

Ques�on:

What did Rashmi do a�er having her picnic at the park?

  

 a.   Went swimming in the lake

 b.   Took a nap in the shade

 c.   Played basketball with friends

 d.   Went shopping at the mall

 Answer. b
 

 18. Which sentence is gramma�cally correct?

  

 a.   He enjoy reading books.

 b.   She enjoys reading books.

 c.   They enjoy read books.

 d.   I enjoys reading books.

 Answer. b
 

 19. Choose the sentence with the correct spelling:

  

 a.   Apples are healty for you.

 b.   Apples are helthy for you.

 c.   Apples are healthy for you.

 d.   Apples are helthi for you.

 Answer. c
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 20.   Fill in the blank with correct choice I __________ my keys at home this morning.

  

 a.   forget

 b.   forgets

 c.   forgo�en

 d.   forgot

 Answer. d
 

 21. Mala's daughter is Sneha's sister. What is Mala's rela�onship to Sneha?

  

 a.     Aunt

 b.   Mother

 c.   Grandmother  

 d.   Cousin

 Answer. b
 

 

22.

The ques�on given below consists of a statement, followed by two arguments numbered I and II. You have to decide which of the
arguments is a 'strong' argument and which is a 'weak' argument.

Statement: Should smoking in public places be banned?

Arguments:

I   . Yes, banning smoking in public places protects non-smokers from the harmful effects of second-hand smoke.

II   . No, people have the right to make their own choices, and banning smoking infringes upon personal freedom.

Op�ons:

  

 a.   Only argument I is strong.

 b.   Only argument II is strong.
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 c.   Both I and II are strong.

 d.   Neither I nor II is strong.

 Answer. c
 

 
23. Iden�fy the figure that completes the pa�ern.       

  

 a.         

 b.           

 c.         

 d.         

 Answer. d
 

 

24.

Five friends, A, B, C, D, and E are si�ng in a row. A is to the immediate right of B. C is to the immediate le� of E. Who is si�ng in the
middle?

  

 a.   D

 b.   C

 c.   E

 d.   B

 Answer. a
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25. The following pie chart exhibit the distribu�on of the overseas tourist traffic from India.

      

What percentage of Indian tourist went to either Japan or USA ?

  

 a. 40 %

 b.   45 %

 c.   60 %

 d.   70 %

 Answer. b
 

 26. If today is Tuesday, what day of the week will it be exactly 60 days from now?

  

 a.   Monday

 b.   Wedneday

 c.   Thursday

 d.   Saturday

 Answer. d
 

 27. If "APPLE" is coded as "BQQMF," what would "BANANA" be coded as?

  

 a.   DCPCPC
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 b.   EDQDQD

 c.   FGMGMG

 d.   CBOBOB

 Answer. d
 

 28. In a certain code, A is coded as 2, B is coded as 3, C is coded as 4, and so on. How is Z coded?

  

 a.   14

 b.   26

 c.   21

 d.   09

 Answer. b
 

 

29.

In the following ques�ons two statements are given and these statements are followed by four   conclusions. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the two given statements, disregarding commonly known facts.

Statements:

All cats have tails.

Tom is a cat.

      

  

 a.   Only conclusion A is true.

 b.   Only conclusion B is true.

 c.   Only conclusion C is true.

 
d.   Only conclusion D is true
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 Answer. a
 

 

30.

In the following ques�ons two statements are given and these statements are followed by four   conclusions. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the two given statements, disregarding commonly known facts.

Statements:

All fruits are healthy.

Apples are fruits.

      

  

 a.   Only conclusion A is true.

 b.   Only conclusion B is true.

 c.   Only conclusion C is true.

 d.   Only conclusion D is true.

 Answer. a
 

 

31. Observe the graph below and answer the following ques�on:

      

What would be the ra�o of the minimum actual produc�on to maximum targeted produc�on?
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 a.   7: 11

 b.   8.5: 10

 c.   12: 14

 d.   3: 12

 Answer. d
 

 

32. The bar graph below depicts the number of students in various classes at a school.

      

What is the overall number of students from grades 6 to 8 as per the graph shown above .

  

 a. 130

 b. 65

 c. 340

 d. 310

 Answer. c
 

 
33. Read the following : Statement: All humans have ten fingers.     Conclusion: John is a human.        

Based on the given statements, which of the following conclusions can be drawn?         Options:        

  

 a.   The conclusion is valid.
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 b.   The conclusion is not valid.

 c.   Insufficient informa�on to determine.

 d.   John does not have ten fingers.

 Answer. c
 

 34. Amit's sister is Priya's mother. How is Amit related to Priya?

  

 a.   Brother

 b.   Father

 c.   Uncle

 d.   Cousin

 Answer. c
 

 35. Amit is Tina's son. Tina's father is Rohit's brother. How is Rohit related to Amit?

  

 a.   Father

 b.   Uncle

 c.   Grandfather

 d.   Brother

 Answer. c
 

 36. What is the next number in the series: 2, 4, 6, 8, ...?

  

 a.   9

 b.   10

 c.   11

 d.   12

 Answer. b
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 37. Find the next le�er in the series: A, C, E, G, ...?

  

 a.   H

 b.   I

 c.   F

 d.   O

 Answer. b
 

 

38. Find the missing number: 

  

 a. 16

 b. 22

 c. 20

 d. 30

 Answer. c
 

 39. Find the missing number in the series: 5, 10, 20, 40, ___.

  

 a.   60

 b. 80

 c.   100

 d.     120

 Answer. b
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 40. What is the next le�er in the series: A, C, E, G, ...?

  

 a.   I

 b.   H

 c.   J

 d.   F

 Answer. *bouns*
 

 41. What is the LCM of 12, 18, and 24?

  

 a.   12

 b.     18

 c.     24

 d.     36

 Answer. d
 

 42. What is the HCF of 56, 72, and 84?

  

 a.     12

 b.     14

 c.     18

 d.     24

 Answer. a
 

 43. If a rectangular garden has a length of 12 feet and a width of 8 feet, what is the ra�o of length to width?

  

 a.   3:2

 b.   2:3
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 c.     4:3

 d.     3:4

 Answer. a
 

 44. If 3 machines can produce 18 widgets in 4 hours, how many widgets can 5 machines produce in 6 hours using the unitary method?

  

 a.   30 widgets

 b.   40 widgets

 c.   60 widgets

 d.   90 widgets

 Answer. *bouns*
 

 45. A shopkeeper purchased a shirt for Rs 40 and sold it for Rs 60. What was the profit percentage?

  

 a.   20%

 b.     33.33%

 c.     40%

 d.     50%

 Answer. d
 

 46. An item originally priced at Rs 120 is sold at a 20% discount. What is the selling price a�er the discount?

  

 a.   Rs. 24

 b.     Rs. 96

 c.   Rs. 100

 d.     Rs. 144

 Answer. b
 

 47. What is the imaginary unit denoted as?
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 a.   i

 b.   π

 c.   e

 d.   √2

 Answer. a
 

 

48.

A car's value depreciated by 15% in the first year and 10% in the second year. If its original value was Rs. 2,00,000, what is its value at
the end of the second year?

  

 a.   Rs. 1,65,000

 b.   Rs. 1,53,000

 c.   Rs. 1,62,000

 d.   Rs. 1,80,000

 Answer. b
 

 49. What is the value of tan (45 degrees)?

  

 a.   0

 b.   1

 c.   -1

 d.   - 0

 Answer. b
 

 50. What is the coefficient of the term x^3 in the expansion of (2x - 3)^5?

  

 a.   120

 b.   -120
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 c.   -80

 d.   80

 Answer. *bouns*
 

 

51.

A ladder is leaning against a wall. The ladder forms a 45-degree angle with the ground. If the ladder is 12 meters long, how far is the
base of the ladder from the wall?

  

 a.   6 meters

 b.   12 meters

 c.   8 meters

 d.   9 meters

 Answer. *bouns*
 

 52.   A cyclist covers a distance of 45 km in 1.5 hours. What is the cyclist's speed?

  

 a.   25 km  h

 b.   30 km  h

 c.   35 km  h

 d.   40 km  h

 Answer. b
 

 53. If the diameter of a circle is 16 units, what is its circumference?

  

 a.   50.27 units

 b.   45.72 units

 c.   62.87 units

 d. 39.21 units

 Answer. a
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 54. What is the simple interest on a sum of ₹10,000 for 5 years at 10% per annum?

  

 a.   ₹1,000

 b.     ₹2,000

 c.   ₹5,000

 d.     ₹10,000

 Answer. c
 

 55. Which of the following inequalities represents the statement: "The product of two negative numbers is positive"?

  

 a.   x < 0 and y < 0  

 b.     x <0 or y<0

 c.   x> 0 and y>0    

 d.   x>0 or y>0

 Answer. a
 

 56. Which of the following numbers is a perfect square?

  

 a.   36

 b.   45

 c.   49

 d.   55

 Answer. a
 

 57. If 25% of a number is 30, what is the number?

  

 a.   120

 b.   90
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 c.   75

 d.   150

 Answer. a
 

 58. If 3x + 5 = 20, what is the value of x?

  

 a.   5

 b.   7

 c.   8

 d.   15

 Answer. a
 

 59.   Which of the following is the correct value of 3 2  3?

  

 a.   3

 b.   6

 c.     9

 d.     27

 Answer. *bouns*
 

 

60.

In a class of 40 students, 24 study mathema�cs, and 18 study physics. If 12 students’ study both subjects, how many students study
either mathema�cs or physics?

  

 a.           24  

 b.         30  

 c.         36  

 d.         42

 Answer. b
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D-X)1 qwe1 Test name :

  Study the following table and answer the ques�ons based on it.

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

      

 61. What is the average amount of interest per year which the company had to pay during this period?

  

 a. Rs. 32.43 lakhs

 b. Rs. 33.72 lakhs

 c. Rs. 34.18 lakhs

 d. Rs. 30.97 lakhs

 Answer. d
 

 

62.

The total amount of bonus paid by the company during the given period is approximately what percent of the total amount of salary
paid during this period?

  

 a.   1.11%

 b.   0.5%

 c.   1%

 d.   0.1%

 Answer. a
 

 63. Total expenditure on all these items in 2018 was approximately what percent of the total expenditure in 2022?

  

 a. 62%
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 b.   66%

 c. 71%

 d.   69%

 Answer. c
 

 

D-X)2 qwe1 Test name :

Study the following chart which gives the data for monthly household expenditure (In Rupees) of Amar. He earns Rs 60, 000per month.

Answer the ques�ons based on these data only.

      

 64. What percentage of monthly Rent does Amar pay of the total monthly expenditure?

  

 a. 60%

 b. 50%

 c. 35%

 d. 45%

 Answer. b
 

 65. What percent of Amar’s income is spent to meet the total monthly expenditures?

  

 a.   62%

 b.   48%
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 c.   70%

 d. 83%

 Answer. d
 

 66. What is the percentage of expenses on Entertainment over household expenses?

  

 a.   12%

 b.   10%

 c.   28%

 d.   6%

 Answer. b
 

 
67. A family records their monthly expenses for three consecutive months. Here's their spending data: Month 1: ₹25,000     Month 2: ₹28,000        

Month 3: ₹30,000         What is the average monthly expense for this family?        

  

 a.   ₹26,000

 b.   ₹28,000

 c.   ₹27,667

 d.   ₹29,000

 Answer. c
 

 

D-X)3 qwe1 Test name :

  Suppose you are a financial analyst at XYZ Corpora�on, analysing the company"s quarterly sales data for the fiscal year 2022-2023. The
company deals in electronic gadgets. You are given the following informa�on for the four quarters of the fiscal year:

Quarter 1 (Q1) Sales: 5,00,000 Rupees

Quarter 2 (Q2) Sales: 6,00,000 Rupees

Quarter 3 (Q3) Sales: 8,00,000 Rupees

Quarter 4 (Q4) Sales: 7,50,000 Rupees
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68.

If the company wants to achieve a total sales target of 30,00,000 Rupees for the next fiscal year, how much more do they need to achieve this target
compared to the current year's total sales?

  

 a.     3,00,000 Rupees

 b.   4,50,000 Rupees

 c.   2,50,000 Rupees

 d.   3,50,000 Rupees

 Answer. d
 

 69. What percentage of the total sales does Q1 represent?

  

 a.   18.87%

 b.   22.64%

 c.   26.42%

 d.   16.85%

 Answer. a
 

 

D-X)4 qwe1 Test name :

  Study the following line graph and answer the ques�ons based on it.

Number of Vehicles Manufactured by Two companies over the Years (Number in Thousands)

      

 70. What is the difference between the number of vehicles manufactured by Diamond Motors in 2019 and 2023?
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 a. 50,000

 b. 42,000

 c. 39,000

 d. 21,000

 Answer. c
 

 71. What is the average numbers of vehicles manufactured by Star Motors over the given period? (Rounded off to nearest integer)

  

 a.   3600

 b.   7500

 c.   4200

 d.   5800

 Answer. b
 

 72. Which company produced more vehicles and by how many?

  

 a.   Star Motors by 8,200

 b.   Diamond Motors by 8,200

 c.   Star Motors by 5, 800

 d.   Diamond Motors by 5, 800

 Answer. a
 
 D-X)5 qwe1 Test name :

Study the following and answer Ques�ons:

There are 200 persons. Number of persons like to consume Tea or Coffee is depicted below

T- Represents -Tea

C- Represents - Coffee



10/7/23, 3:00 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*Ko…

https://mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjF… 26/69

      

 73. Number of students who like only one of tea or coffee.

  

 a. 80

 b. 70

 c. 20

 d. 100

 Answer. d
 

 74. Number of persons who like at least one of tea or coffee.

  

 a.   150

 b.   110

 c.   180

 d.   200

 Answer. c
 
 D-X)6 qwe1 Test name :

Based on the following answer the ques�ons.
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 75.   In which month was the temperature the highest?

  

 a.   January

 b.     April

 c.   May

 d.   March

 Answer. c
 

 76. Calculate the average temperature for the first three months (January, February, March) based on the provided data.

  

 a.   15 degrees Celsius

 b.   18 degrees Celsius

 c.   13 degrees Celsius

 d.   20 degrees Celsius

 Answer. a
 
 D-X)7 qwe1 Test name :

  (Data Analysis and Data Comparison)

Given below are the data of sales (in thousands) of two companies.

Based on it answer the ques�ons.
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 77. In which month did XYZ Company had highest sales in Comparison to Company ABC.

  

 a. January

 b. March

 c. April

 d. May

 Answer. d
 

 78. In which month both the companies had the same sales?

  

 a.   January

 b.   March

 c.   April

 d.   June

 Answer. d
 

 

79. Each of the ques�ons below consists of a ques�on and two statements numbered I

and II given below it. You have to decide whether the data provided in the statements are

sufficient to answer the ques�on. Read both the statements and give answer:

How many students passed the math exam?

I . The total number of students in the class is 40.

II . The pass percentage for the math exam is 70%.
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a.

  The data in statement I alone is sufficient to answer the ques�on, while the data in statement II alone is not sufficient to answer the
ques�on.

 

b.

  The data in statement II alone is sufficient to answer the ques�on, while the data in statement I alone is not sufficient to answer the
ques�on.

 c.   The data in statements I alone or in statement II alone is sufficient to answer the ques�on.

 d.   The data in both the statements I and II is not sufficient to answer the ques�on.

 Answer. d
 

 

80. What is the �me taken to travel from City A to City B? I     The distance between City A and City B is 300 kilometres.

II     The speed of the vehicle used for the journey is 60 kilometres per hour.

  

 

a.

  The data in statement I alone is sufficient to answer the ques�on, while the data in statement II alone is not sufficient to answer the
ques�on.

 

b.

  The data in statement II alone is sufficient to answer the ques�on, while the data in statement I alone is not sufficient to answer the
ques�on.

 c.   The data in statements I alone or in statement II alone is sufficient to answer the ques�on.

 d.   The data in both the statements I and II is not sufficient to answer the ques�on.

 Answer. *bouns*
 

 81. What does “Vasudhaiva Kutumbakam” mean which was the theme of   G-20, 2023?

  

 a.   Save the earth

 b.   One Earth, One Family, One Future

 c.   Unity in Diversity

 d.   Peace all over

 Answer. b
 

 82. What is the name of the Rover of Chandrayaan -3?
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 a.   Vikram

 b.     Chandragupta

 c.   Vigyan

 d.   Pragyaan

 Answer. d
 

 83. The Indian Army has recently inducted 600 self-neutralizing an�-tank mines, known as…..

  

 a.   Vaibhav

 b.   Chaitanya

 c.   Milind

 d.   Agni

 Answer. a
 

 84. Which of the following is the oldest known civiliza�on in India?

  

 a.   Indus Valley Civiliza�on

 b.     Vedic Civiliza�on

 c.     Maurya Empire

 d.     Gupta Empire

 Answer. a
 

 85. Which of the following was the first Indian woman to become a president?

  

 a.     Indira Gandhi

 b.     Pra�bha Pa�l

 c.   Sushma Swaraj
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 d.     Sonia Gandhi

 Answer. b
 

 86. Which of the following is the na�onal animal of India?

  

 a.   Tiger

 b.     Elephant

 c.   Peacock

 d.     Lion

 Answer. a
 

 87. Who wrote the book The Discovery of India?

  

 a.   Mahatma Gandhi

 b.   Sardar Patel

 c.   Subhash Chandra Bose

 d.   Jawahar Lal Nehru

 Answer. d
 

 88. The full form of ILO is:

  

 a.   Interna�onal Labour Organiza�on

 b.   Indian Labour Organiza�on

 c.   Interna�onal Land Organiza�on

 d.     Indian Land Organiza�on

 Answer. a
 

 89. Where is the famous Sun Temple situated?
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 a.   Udaipur

 b.   Konark

 c.   Nalanda

 d.   Delhi

 Answer. b
 

 90. Who became the champion of IPL, 2023?

  

 a.   Sunrisers Hyderabad

 b.   Mumbai Indians

 c.     Gujarat Titans

 d.   Chennai Super Kings

 Answer. d
 

 91. In the Chess World Cup 2023, who became world's youngest player to reach the Chess World Cup final?

  

 a.   Viswanathan Anand

 b.   Gukesh D

 c.   Rameshbabu Praggnanandhaa

 d.   Pentala Harikrishna

 Answer. c
 

 92. Which foreign leader, here for the G-20 summit was stranded in India for over 36 hours a�er his plane developed a snag.

  

 a.   Joe Biden

 b.   Jus�n Trudeau

 c.   Giorgia Meloni
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 d.   Rishi Sunak

 Answer. b
 

 93. Which actress is making a comeback with the film 'Sukhee'?

  

 a.   Raveena Tandon

 b.   Juhi Chawla

 c.   Mandakni

 d.   Shilpa She�y

 Answer. d
 

 94. What is the only Indian company on TIME magazine's 2023 list of the world's best companies?

  

 a. Infosys

 b. Tata Consultancy Services

 c. Wipro

 d. HCL Technologies

 Answer. a
 

 95. Who is the chairman of Reliance Industries?

  

 a.   Neeta Ambani

 b.   Mukesh Ambani

 c.   Anil Ambani

 d.   Ishita Ambani

 Answer. b
 

 96. Why was the President of The Wrestling Federa�on of India (WFI), Brij Bhushan Singh Suspended?
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 a.   Charges of gra�

 b.   Charges of concealing the iden�ty

 c.   Charges of Misappropria�on of Funds

 d.   Charges of Sexual harassment and Stalking

 Answer. d
 

 97. What is the full form of POSH?

  

 a.       Preven�on of Social Harassment

 b.     Prohibi�on of Sexual Harassment

 c.     Protocol of Sexual Harassment

 d.   Preven�on of Sexual Harassment

 Answer. d
 

 98. Which of the following is a famous quote by Swami Vivekananda?

  

 a.   "Arise, awake, and stop not �ll the goal is reached."

 b.     "Educa�on is the manifesta�on of the perfec�on already in man."

 c.     "The only secret of success is to do the common thing uncommonly well."

 d.     "You have to dream before your dreams can come true."

 Answer. a
 

 99. What is the difference between saving and inves�ng?

  

 a.     Saving is something that you do with a short-term goal, while inves�ng is something that you do with a long-term goal.

 b.     Saving is pu�ng money aside for future use, while inves�ng is using that money to make more money.

 c.     Saving is something that you do with a low-risk investment, while inves�ng is something that you do with a high-risk investment.
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 d.   Saving is something that you do with a liquid investment, while inves�ng is something that you do with an illiquid investment.

 Answer. b
 

 100. Where is the Film and Television Ins�tute of India Located?

  

 a.   Mumbai

 b.   Chennai

 c.   Pune

 d.   Kolkata

 Answer. c
 
Test Question    Language:- HINDI
 

 
1. Choose the correct sequence of sentences to create a logical paragraph:     

 

 a.   B, A, C, D

 b.   A, B, D, C

 c.   C, A, B, D

 d.   D, B, A, C

 Answer. b
 

 
2. Arrange the following sentences to form a coherent paragraph:     

 

 a.   B, C, A, D

 b.   C, B, A, D

 c.   A, B, C, D

 d.   D, B, C, A

 Answer. b
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3. What part of speech is the word "beautiful" in the sentence: "The beautiful sunset painted the sky with vibrant colours"

 

 a.   Adjective

 b.   Adverb

 c.   Noun

 d.   Verb

 Answer. a
 

 4. What is the word for the practice of taking someone else's work or ideas and passing them off as one's own?

 

 a.   Paraphrasing

 b.   Plagiarism

 c.   Quotation

 d.   Attribution

 Answer. b
 

 5. What is the word for a sudden and violent overthrow of a government, often by a military group?

 

 a.   Revolution

 b.   Rebellion

 c.   Coup

 d.   Uprising

 Answer. c
 

 6. In the sentence, "She gave her umbrella to him," what are the pronouns?

 

 a.   She and Him

 
b.   She and Umbrella
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 c.   Her and Him

 d.   She and Gave

 Answer. c
 

 7. Identify the pronoun in the sentence: "They arrived late because they missed the bus."

 

 a.   They

 b.   Arrived

 c.   Late

 d.   Missed

 Answer. a
 

 8. What is the adjective in the sentence: "The red car sped down the highway."

 

 a.   The

 b.   Car

 c.   Sped

 d.   Red

 Answer. d
 

 9. What is the adverb in the sentence: "He ran quickly to catch the bus."

 

 a.   He

 b.   Ran

 c.   Quickly

 d.   The

 Answer. c
 

 10. What is the antonym of "happy"?
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 a.   Sad

 b.   Excited

 c.   Joyful

 d.   Content

 Answer. a
 

 11. Select the synonym for "excited."

 

 a.   Bored

 b.   Enthusiastic

 c.   Calm

 d.   Relaxed

 Answer. b
 

 12. What does the idiom "burning the midnight oil" mean?

 

 a.   Starting a fire at night

 b.   Working late into the night

 c.   Going for a nighttime swim

 d.   Celebrating a birthday at midnight

 Answer. b
 

 13. What is the meaning of the idiom "in the same boat"?

 

 a.   Sailing in a boat together

 b.   Facing a common problem or situation

 c.   Competing in a race
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 d.   Going on a vacation

 Answer. b
 

 14. What does the word "friendly" mean?

 

 a.   Unkind

 b.   Hostile

 c.   Pleasant

 d.   Grumpy

 Answer. c
 

 15. What does the word "gregarious" mean?

 

 a.   Shy

 b.   Friendly and sociable

 c.   Isolated

 d.   Aggressive

 Answer. b
 

 

16. 16. Read the following and based on it answer the question”

“Mohan loves to read books. He spends most of his free time at the library, exploring various genres. He believes that books are a
gateway to different worlds and ideas. Mohan's favourite books are adventure stories.”

Question:

What is Mohan's favourite genre of books?

 

 a.   Mystery

 b.   Romance

 c.   Adventure
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 d.   Biography

 Answer. c
 

 

17. Read the following and based on it answer the question”

“Rashmi decided to spend the day at the park. She packed a picnic basket with sandwiches, fruit, and lemonade. At the park, she found a
cozy spot under a tree and enjoyed her picnic. Afterward, she read a book and took a nap in the shade.”

Question:

What did Rashmi do after having her picnic at the park?

 

 a.   Went swimming in the lake

 b.   Took a nap in the shade

 c.   Played basketball with friends

 d.   Went shopping at the mall

 Answer. b
 

 18. Which sentence is grammatically correct?

 

 a.   He enjoy reading books.

 b.   She enjoys reading books.

 c.   They enjoy read books.

 d.   I enjoys reading books.

 Answer. b
 

 19. Choose the sentence with the correct spelling:

 

 a.   Apples are healty for you.

 b.   Apples are helthy for you.

 c.   Apples are healthy for you.
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 d.   Apples are helthi for you.

 Answer. c
 

 
20.   Fill in the blank with correct choice I __________ my keys at home this morning.

 

 a.   forget

 b.   forgets

 c.   forgotten

 d.   forgot

 Answer. d
 

 21. मालाची मुलगी �ेहाची बहीण आहे. तर माला आिण �ेहाचे नाते काय असेल?

 

 a.   काकू

 b.   आई

 c.   आजी

 d.   चुलत भाऊ अथवा बहीण

 Answer. b
 

 

22.

खाली िदले�ा ��ात िवधान आहे, �ानंतर I आिण II �मांकाचे दोन िवतक�  आहेत. कोणता यु��वाद 'सश�' यु��वाद आहे आिण कोणता
'कमकुवत' यु��वाद आहे हे आपण ठरवायचे आहे.

िवधान: साव�जिनक िठकाणी धु�पान कर�ास बंदी असावी का?

यु��वाद:

I         होय, साव�जिनक िठकाणी धु�पान बंदी के�ाने धु�पान न करणा�यांना धुरा�ा हािनकारक �भावापासून संर�ण िमळते.

II       नाही, लोकांना �ां�ा �तः �ा िनवडी कर�ाचा अिधकार आहे आिण धू�पानावर बंदी घालणे वैय��क �ातं�ाचे उ�ंघन करते.

पया�य:
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 a.   फ� यु��वाद I मजबूत आहे.

 b.   फ� यु��वाद II मजबूत आहे.

 c.   I आिण II दो�ी मजबूत आहेत.

 d.   I िकंवा II दोघेही मजबूत नाहीत.

 Answer. c
 

 
23. नमुना पूण� करणारी आकृती ओळखा.     

 

 a.       

 b.         

 c.       

 d.       

 Answer. d
 

 

24.

A, B, C, D आिण E असे पाच िम� एका ओळीत बसले आहेत. A हा B �ा लगेच उजवीकडे आहे. C E �ा लगेच डावीकडे आहे. म�भागी कोण
बसले आहे?

 

 a.   D

 b.   C

 c.   E

 d.   B

 Answer. a
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25. खालील पाई चाट� भारतातून परदेशी पय�टकां�ा वाहतुकीचे िवतरण �दिश�त करते.

    

िकती ट�े भारतीय पय�टक जपान िकंवा अमे�रकेत गेले?

 

 a. ४० %

 b.   ४५ %

 c.   ६० %

 d.   ७० %

 Answer. b
 

 26. जर आज मंगळवार असेल, तर आतापासून ६० िदवसांनी आठव�ाचा कोणता िदवस असेल?

 

 a.   सोमवार

 b.   बुधवार

 c.   गु�वार

 d.   शिनवार

 Answer. d
 

 27. जर "APPLE" ला "BQQMF" असे कोड केले असेल, तर "BANANA" ला काय �णून कोड केले जाईल?

 

 a.   DCPCPC
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 b.   EDQDQD

 c.   FGMGMG

 d.   CBOBOB

 Answer. d
 

 28. एका िविश� कोडम�े, A २ �णून कोड केले जाते, B ३ �णून कोड केले जाते, C ४ �णून कोड केले जाते, आिण असेच. Z कोड कसे केले जाते?

 

 a.   १४

 b.   २६

 c.   २१

 d.   ०९

 Answer. b
 

 

29.

खालील ��ांम�े दोन िवधाने िदली आहेत आिण या िवधानांमागे चार िन�ष� आहेत. तु�ाला िदलेली दोन िवधाने सामा�तः  �ात त�ांपे�ा िभ� आहेत
असे वाटत असले तरीही ती तु�ाला स� मानावी लागतील. िन�ष� वाचा आिण नंतर सामा�तः  �ात त�ांकडे दुल�� क�न, िदले�ा दोन
िवधानांमधून कोणते िन�ष� तािक� कपणे अनुसरण करतात ते ठरवा.

िवधाने:

सव� मांजरीनंा शेपटी असते.

टॉम एक मांजर आहे.

    

पया�य :

 

 a.   फ� िन�ष� A स� आहे.

 b.   फ� िन�ष� B स� आहे.

 c.   फ� िन�ष� C स� आहे.
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 d.   फ� िन�ष� D स� आहे.

 Answer. a
 

 

30.

खालील ��ांम�े दोन िवधाने िदली आहेत आिण या िवधानांमागे चार िन�ष� आहेत. तु�ाला िदलेली दोन िवधाने स� मानावी लागतील जरी ती
सामा�तः  �ात त�ांपे�ा िभ� आहेत. िन�ष� वाचा आिण नंतर सामा�तः  �ात त�ांकडे दुल�� क�न, िदले�ा दोन िवधानांमधून कोणते िन�ष�
तािक� कपणे अनुसरण करतात ते ठरवा.

िवधाने:

सव� फळे आरो�दायी असतात.

सफरचंद फळ आहे.

    

पया�य :

 

 a.   फ� िन�ष� A स� आहे.

 b.   फ� िन�ष� B स� आहे.

 c.   फ� िन�ष� C स� आहे.

 d.   फ� िन�ष� D स� आहे.

 Answer. a
 

 

31. खालील आलेखाचे िनरी�ण करा आिण खालील ��ाचे उ�र �ा:     

िकमान ��� उ�ादन आिण कमाल ल��त उ�ादनाचे गुणो�र िकती असेल?
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 a.   ७: ११

 b.   ८.५: १०

 c.   १२: १४

 d.   ३: १२

 Answer. d
 

 

32. खालील बार आलेख शाळेतील िविवध वगा�तील िव�ा�ा�ची सं�ा दश�वतो.

    

वर दश�िवले�ा आलेखानुसार इय�ा ६ ते ८ मधील िव�ा�ा�ची एकूण सं�ा िकती आहे.

 

 a. १३०

 b. ६५

 c. ३४०

 d. ३१०

 Answer. c
 

 

33. पुढील वाचा: िवधान: सव� मानवांना दहा बोटे असतात.

िन�ष�: जॉन एक मनु� आहे.

िदले�ा िवधानां�ा आधारे खालीलपैकी कोणते िन�ष� काढता येतील?

पया�य :
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 a.   िन�ष� वैध आहे.

 b.   िन�ष� वैध नाही.

 c.   िनधा��रत कर�ासाठी मािहती पुरेशी नाही.

 d.   जॉनला दहा बोटे नाहीत.

 Answer. c
 

 34. अिमतची बहीण ि�याची आई आहे. अिमतचा ि�याशी काय संबंध आहे? पया�य :

 

 a.   भाऊ

 b.   वडील

 c.   काका

 d.   चुलत भाऊ अथवा बहीण

 Answer. c
 

 35. अिमत हा टीनाचा मुलगा आहे. टीनाचे वडील रोिहतचे भाऊ आहेत. रोिहतचा अिमतशी काय संबंध आहे? पया�य :

 

 a.   वडील

 b.   काका

 c.   आजोबा

 d.   भाऊ

 Answer. c
 

 36. मािलकेतील पुढील सं�ा कोणती आहे: २, ४, ६, ८, ...? पया�य :

 

 a.   ९

 b.   १०
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 c.   ११

 d.   १२

 Answer. b
 

 37. मािलकेतील पुढील अ�र शोधा: A, C, E, G, ...?

 

 a.   H

 b.   I

 c.   F

 d.   O

 Answer. b
 

 

38. गहाळ �मांक शोधा: 

 

 a. १६

 b. २२

 c. २०

 d. ३०

 Answer. c
 

 39. मािलकेतील गहाळ सं�ा शोधा: ५, १०, २०, ४०, ___.

 

 a.   ६०

 
b. ८०
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 c.   १००

 d.     १२०

 Answer. b
 

 40. मािलकेतील पुढील अ�र कोणते: A, C, E, G, ...?

 

 a.   I

 b.   H

 c.   J

 d.   F

 Answer. *bouns*
 

 41. १२, १८, आिण २४ चा लसािव काय आहे?

 

 a.   १२

 b.     १८

 c.     २४

 d.     ३६

 Answer. d
 

 42. ५६, ७२ आिण ८४ चा मसािव काय आहे?

 

 a.     १२

 b.     १४

 c.     १८

 d.     २४

 Answer. a
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 43. जर आयताकृती बागेची लांबी १२ फूट आिण �ंदी ८ फूट असेल तर लांबी आिण �ंदीचे गुणो�र िकती असेल?

 

 a.   ३:२

 b.   २:३

 c.     ४:३

 d.     ३:४

 Answer. a
 

 44. जर ३ मशीन ४ तासांत १८ िवजेट तयार क� शकतात, तर एका�क प�तीने ५ मशीन ६ तासांत िकती िवजेट तयार क� शकतात?

 

 a.   ३० िवजेट्स

 b.   ४० िवजेट्स

 c.   ६० िवजेट्स

 d.   ९० िवजेट्स

 Answer. *bouns*
 

 45. एका दुकानदाराने ४० �पयांना शट� खरेदी केला आिण ६० �पयांना िवकला. तर �ाची न�ाची ट�ेवारी िकती होती?

 

 a.   २०%

 b.     ३३.३३%

 c.     ४०%

 d.     ५०%

 Answer. d
 

 46. मूळ िकंमत १२० �पये असलेली व�ू २०% सवलतीने िवकली जाते. तर सवलतीनंतर िव�ीची िकंमत िकती आहे?

 

 a.   �. २४
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 b.     �. ९६

 c.   �. १००

 d.     �. १४४

 Answer. b
 

 47. का�िनक एकक काय �णून दश�िवले जाते?

 

 a.   i

 b.   π

 c.   e

 d.   √२

 Answer. a
 

 

48.

कारचे मू� पिह�ा वष� १५% आिण दुस�या वष� १०% ने घसरले. जर �ाचे मूळ मू� � २,००,००० असेल तर दुस�या वषा��ा शेवटी �ाचे मू� िकती
असेल?

 

 a.   �. १,६५,०००

 b.   �. १,५३,०००

 c.   �. १,६२,०००

 d.   �. १,८०,०००

 Answer. b
 

 49. टॅन (४५ अंश) चे मू� काय आहे?

 

 a.   ०

 b.   १

 c.   -१
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 d.   - ०

 Answer. b
 

 50. (२x - ३)^५ �ा िव�ाराम�े x^३ श�ाचा गुणांक काय आहे?

 

 a.   १२०

 b.   -१२०

 c.   -८०

 d.   ८०

 Answer. *bouns*
 

 

51.

एक िशडी िभंतीला टेकलेली आहे. िशडी जिमनीसह ४५-अंशाचा कोन बनवते. जर िशडी १२ मीटर लांब असेल, तर िशडीचा पाया िभंतीपासून िकती
अंतरावर असेल?

 

 a.   ६ मीटर

 b.   १२ मीटर

 c.   ८ मीटर

 d.   ९ मीटर

 Answer. *bouns*
 

 52.   सायकल�ार १.५ तासात ४५ िकमी अंतर कापतो. तर सायकल�ाराचा वेग िकती आहे?

 

 a.   २५ िकमी  ता

 b.   ३० िकमी  ता

 c.   ३५ िकमी  ता

 d.   ४० िकमी  ता

 Answer. b
 
 

53. वतु�ळाचा �ास १६ एकक अस�ास, �ाचा घेर िकती असेल?
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 a.   ५०.२७ एकक

 b.   ४५.७२ एकक

 c.   ६२.८७ एकक

 d. ३९.२१ एकक

 Answer. a
 

 54. ₹१०,००० �ा रकमेवर ५ वषा�साठी १०% वािष�क दराने साधे �ाज िकती असेल?

 

 a.   ₹१,०००

 b.     ₹२,०००

 c.   ₹५,०००

 d.     ₹१०,०००

 Answer. c
 

 55. खालीलपैकी कोणती असमानता िवधानाचे �ितिनिध� करते: "दोन ऋण सं�ांचा गुणाकार धन असते"?

 

 a.   x < ० आिण y < ०  

 b.     x <० िकंवा y<०

 c.   x> ० आिण y>०    

 d.   x>० िकंवा y>०

 Answer. a
 

 56. खालीलपैकी कोणती सं�ा प�रपूण� वग� आहे?

 

 a.   ३६

 b.   ४५
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 c.   ४९

 d.   ५५

 Answer. a
 

 57. जर एखा�ा सं�ेचा २५% ३० असेल तर ती सं�ा िकती असेल?

 

 a.   १२०

 b.   ९०

 c.   ७५

 d.   १५०

 Answer. a
 

 58. ३x + ५ = २० अस�ास, x चे मू� िकती आहे?

 

 a.   ५

 b.   ७

 c.   ८

 d.   १५

 Answer. a
 

 59.   खालीलपैकी ३ २  ३ चे बरोबर मू� कोणते?

 

 a.   ३

 b.   ६

 c.     ९

 d.     २७

 Answer. *bouns*
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60.

४० िव�ा�ा��ा वगा�त, २४ गिणताचा अ�ास करतात आिण १८ भौितकशा�ाचा अ�ास करतात. जर १२ िव�ाथ� दो�ी िवषयांचा अ�ास करतात,
तर िकती िव�ाथ� गिणत िकंवा भौितकशा�ाचा अ�ास करतात?

 

 a.         २४  

 b.         ३०  

 c.         ३६  

 d.         ४२

 Answer. b
 

 

D-X)1 qwe11 Hindi Test name :

खालील त�ाचा अ�ास करा आिण �ावर आधा�रत ��ांची उ�रे �ा.

िदले�ा वषा�म�े कंपनीचा वािष�क खच� (लाख �पयांम�े).

    

 61. या कालावधीत कंपनीला दरवष� सरासरी िकती �ाज �ावे लागले?

 

 a. �. ३२.४३ लाख

 b. �. ३३.७२ लाख

 c. �. ३४.१८ लाख

 d. �. ३०.९७ लाख

 Answer. d
 

 62. िदले�ा कालावधीत कंपनीने िदलेली बोनसची एकूण र�म या कालावधीत भरले�ा पगारा�ा एकूण रकमे�ा अंदाजे िकती ट�े आहे?

 

 a.   १.११%
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 b.   ०.५%

 c.   १%

 d.   ०.१%

 Answer. a
 

 63. २०१८ म�े या सव� बाबीवंर झालेला एकूण खच� २०२२ मधील एकूण खचा��ा अंदाजे िकती ट�े होता?

 

 a. ६२%

 b.   ६६%

 c. ७१%

 d.   ६९%

 Answer. c
 

 

D-X)2 qwe11 Hindi Test name :

  खालील त�ाचा अ�ास करा जो अमर�ा मािसक कौटंुिबक खचा�ची (�पयांत) आकडेवारी दश�वतो. तो दर मिह�ाला ६०,०००�पये कमावतो.

फ� या डेटावर आधा�रत ��ांची उ�रे �ा.

    

 64. अमर एकूण मािसक खचा��ा िकती ट�े मािसक भाडे देते?

 

 a. ६०%

 b. ५०%
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 c. ३५%

 d. ४५%

 Answer. b
 

 65. अमर�ा उ��ा�ा िकती ट�े र�म एकूण मािसक खच� भागव�ासाठी खच� केली जाते?

 

 a.   ६२%

 b.   ४८%

 c.   ७०%

 d. ८३%

 Answer. d
 

 66. घरगुती खचा�पे�ा मनोरंजनावरील खचा�ची ट�ेवारी िकती आहे?

 

 a.   १२%

 b.   १०%

 c.   २८%

 d.   ६%

 Answer. b
 

 

67. एखादे कुटंुब सलग तीन मिहने �ां�ा मािसक खचा�ची नोदं करते. येथे �ां�ा खचा�चा डेटा आहे: मिहना १: ₹२५,०००

मिहना २: ₹२८,०००

मिहना ३: ₹३०,०००

या कुटंुबासाठी सरासरी मािसक खच� िकती आहे?

 

 a.   ₹२६,०००
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 b.   ₹२८,०००

 c.   ₹२७,६६७

 d.   ₹२९,०००

 Answer. c
 

 

D-X)3 qwe11 Hindi Test name :

समजा तु�ी XYZ कॉप�रेशनचे आिथ�क िव�ेषक आहात, २०२२-२०२३ या आिथ�क वषा�साठी कंपनी�ा ितमाही िव�ी डेटाचे िव�ेषण करत आहात.
कंपनी इले�� ॉिनक गॅझेट्सचा �वहार करते. तु�ाला आिथ�क वषा��ा चार ितमाहीसाठी खालील मािहती िदली आहे:

ितमाही १ (Q१) िव�ी: ५,००,००० �पये

ितमाही २ (Q२) िव�ी: ६,००,००० �पये

ितमाही ३ (Q३) िव�ी: ८,००,००० �पये

ितमाही ४ (Q४) िव�ी: ७,५०,००० �पये

 

68.

कंपनीला पुढील आिथ�क वषा�साठी ३०,००,००० �पयांचे एकूण िव�ीचे ल� गाठायचे असेल, तर चालू वषा��ा एकूण िव�ी�ा तुलनेत �ांना हे ल�
गाठ�ासाठी आणखी िकती र�म हवी आहे?

 

 a.     ३,००,००० �पये

 b.   ४,५०,००० �पये

 c.   २,५०,००० �पये

 d.   ३,५०,००० �पये

 Answer. d
 

 69. Q१ एकूण िव�ीची िकती ट�ेवारी दश�िवतो?

 

 a.   १८.८७%

 b.   २२.६४%

 c.   २६.४२%
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 d.   १६.८५%

 Answer. a
 

 

D-X)4 qwe11 Hindi Test name :

खालील रेषा आलेखाचा अ�ासा आिण �ावर आधा�रत ��ांची उ�रे �ा.

वषा�म�े दोन कंप�ांनी उ�ािदत केले�ा वाहनांची सं�ा (सं�ा हजारांम�े)

    

 70. डायमंड मोटस�ने २०१९ आिण २०२३ म�े उ�ािदत केले�ा वाहनां�ा सं�ेत काय फरक आहे?

 

 a. ५०,०००

 b. ४२,०००

 c. ३९,०००

 d. २१,०००

 Answer. c
 

 71. िदले�ा कालावधीत �ार मोटस�ने उ�ािदत केले�ा वाहनांची सरासरी सं�ा िकती आहे? (नजीक�ा पूणा�कापय�त पूणा�क)

 

 a.   ३६००

 b.   ७५००

 c.   ४२००

 d.   ५८००
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 Answer. b
 

 72. कोण�ा कंपनीने अिधक वाहनांचे उ�ादन केले आिण िकती?

 

 a.   �ार मोटस�ने ८,२०० ने

 b.   डायमंड मोटस�ने ८,२०० ने

 c.   �ार मोटस�ने   ५, ८०० ने

 d.   डायमंड मोटस�ने ८,२०० ने

 Answer. a
 

 

D-X)5 qwe11 Hindi Test name :

  खालील गो�ीचंा अ�ास करा आिण ��ांची उ�रे �ा:

२०० ��ी आहेत. चहा िकंवा कॉफी �ायला आवडणा�या ��ीचंी सं�ा खाली दश�वली आहे

T-Tea दश�वते

C- Coffee दश�वते

    

 73. �ांना फ� चहा िकंवा कॉफी आवडते अशा िव�ा�ा�ची सं�ा.

 

 a. ८०

 b. ७०

 c. २०

 d. १००

 Answer. d
 

 74. िकमान एक चहा िकंवा कॉफी आवडणा�या ��ीचंी सं�ा.

 



10/7/23, 3:00 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*Ko…

https://mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrJCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjF… 61/69

 a.   १५०

 b.   ११०

 c.   १८०

 d.   २००

 Answer. c
 

 

D-X)6 qwe11 Hindi Test name :

  पुढील ��ां�ा आधारे उ�रे �ा.

    

 75. कोण�ा मिह�ात सवा�त जा� तापमान होते?

 

 a.   जानेवारी

 b.   एि�ल

 c.   मे

 d.   माच�

 Answer. c
 

 76. �दान केले�ा डेटा�ा आधारे पिह�ा तीन मिह�ां�ा (जानेवारी, फे�ुवारी, माच�) सरासरी तापमानाची गणना करा.

 

 a.   १५ अंश से��अस

 b.   १८ अंश से��अस
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 c. १३ अंश से��अस

 d. २० अंश से��अस

 Answer. a
 

 

D-X)7 qwe11 Hindi Test name :

  (डेटा िव�ेषण आिण डेटा तुलना)

खाली दोन कंप�ां�ा िव�ीचा डेटा (हजारो म�े) िदला आहे.

�ावर आधा�रत ��ांची उ�रे �ा.

                                                               

 77. कंपनी ABC �ा तुलनेत XYZ कंपनीची कोण�ा मिह�ात सवा�िधक िव�ी झाली.

 

 a. जानेवारी

 b. माच�

 c. एि�ल

 d. मे

 Answer. d
 

 78. कोण�ा मिह�ात दो�ी कंप�ांची िव�ी समान होती?

 

 a.   जानेवारी

 b.   माच�

 c.   एि�ल

 d.   जून
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 Answer. d
 

 

79.

खाली िदले�ा ��ेक ��ाम�े एक �� आिण �ा खाली िदले�ा I आिण II �मांकाची दोन िवधाने आहेत. िवधानांम�े िदलेला डेटा ��ाचे उ�र
दे�ासाठी पुरेसा आहे की नाही हे तु�ी ठरवावे. दो�ी िवधाने वाचा आिण उ�र �ा:

गिणता�ा परी�ेत िकती िव�ाथ� उ�ीण� झाले?

I       वगा�तील एकूण िव�ा�ा�ची सं�ा ४० आहे.

II     गिणत परी�ेत उ�ीण� हो�ाची ट�ेवारी ७०% आहे.

 

 a.   िवधान I मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा आहे, तर िवधान II मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 b.   िवधान II मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा आहे, तर िवधान I मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 c.   केवळ िवधान I िकंवा िवधान II मधील डेटा ��ाचे उ�र दे�ासाठी पुरेसा आहे.

 d.   I आिण II दो�ी िवधानांमधील डेटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 Answer. d
 

 

80. शहर A ते शहर B पय�त �वास कर�ासाठी िकती वेळ लागतो? I       शहर A आिण शहर B मधील अंतर ३०० िकलोमीटर आहे.

II       �वासासाठी वापर�ा जाणा�या वाहनाचा वेग ताशी ६० िकलोमीटर आहे.

 

 a.   िवधान I मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा आहे, तर िवधान II मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 b.   िवधान II मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा आहे, तर िवधान I मधील डेटा एकटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 c.   केवळ िवधान I िकंवा िवधान II मधील डेटा ��ाचे उ�र दे�ासाठी पुरेसा आहे.

 d.   I आिण II दो�ी िवधानांमधील डेटा ��ाचे उ�र दे�ासाठी पुरेसा नाही.

 Answer. *bouns*
 

 81. G-२०, २०२३ ची थीम असले�ा “वसुधैव कुटंुबकम” चा अथ� काय आहे?

 

 a.   पृ�ी वाचवा

 b.   एक पृ�ी, एक कुटंुब, एक भिव�
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 c.   िविवधतेत एकता

 d.   सव�� शांतता

 Answer. b
 

 82. चां�यान -३ �ा रो�रचे नाव काय आहे?

 

 a.   िव�म

 b.   चं�गु�

 c.   िव�ान

 d.   ��ान

 Answer. d
 

 83. भारतीय ल�राने अलीकडेच ६०० �यं-िन��य टँक-िवरोधी खाणीचंा समावेश केला आहे, �ांना........ �णून ओळखले जाते.

 

 a.   वैभव

 b.   चैत�

 c.   िमिलंद

 d.   अ�ी

 Answer. a
 

 84. खालीलपैकी भारतातील सवा�त जुनी �ात सं�ृती कोणती आहे?

 

 a.   िसंधू सं�ृती

 b.   वैिदक सं�ृती

 c.   मौय� सा�ा�

 d.   गु� सा�ा�

 Answer. a
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 85. खालीलपैकी पिहली भारतीय मिहला रा�� पती कोण बनली होती?

 

 a.   इंिदरा गांधी

 b.   �ितभा पाटील

 c.   सुषमा �राज

 d.   सोिनया गांधी

 Answer. b
 

 86. खालीलपैकी भारताचा रा�� ीय �ाणी कोणता आहे?

 

 a.   वाघ

 b.   ह�ी

 c.   मोर

 d.   िसंह

 Answer. a
 

 87. द िड��री ऑफ इंिडया हे पु�क कोणी िलिहले?

 

 a.   महा�ा गांधी

 b.   सरदार पटेल

 c.   सुभाषचं� बोस

 d.   जवाहरलाल नेह�

 Answer. d
 

 88. ILO चे पूण� �प आहे:

 

 a.   आंतररा�� ीय कामगार संघटना
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 b.   भारतीय कामगार संघटना

 c.   आंतररा�� ीय जमीन संघटना

 d.   भारतीय जमीन संघटना

 Answer. a
 

 89. �िस� सूय�मंिदर कोठे आहे?

 

 a.   उदयपूर

 b.   कोणाक�

 c.   नालंदा

 d.   िद�ी

 Answer. b
 

 90. IPL, २०२३ चा चॅ��यन कोण बनला?

 

 a.   सनरायझस� हैदराबाद

 b.   मंुबई इंिडय�

 c.   गुजरात टायट�

 d.   चे�ई सुपर िकं�

 Answer. d
 

 91. बु��बळ िव�चषक २०२३ म�े, बु��बळ िव�चषका�ा अंितम फेरीत पोहोचणारा जगातील सवा�त त�ण खेळाडू कोण ठरला?

 

 a.   िव�नाथन आनंद

 b.   गुकेश डी

 c.   रमेशबाबू ��ानंधा

 d.   प�टाला ह�रकृ�
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 Answer. c
 

 

92.

G-२० िशखर प�रषदेसाठी कोणता परदेशी नेता, �ा�ा िवमानात अडथळे िनमा�ण झा�ानंतर ३६ तासां�न अिधक काळ भारतात अडकून पडला
होता.

 

 a.   जो िबडेन

 b.   ज��न �� डो

 c.   जॉिज�या मेलोनी

 d.   ऋषी सुनक

 Answer. b
 

 93. 'सुखी' िच�पटा�ारे कोणती अिभने�ी पुनरागमन करत आहे?

 

 a.   रवीना टंडन

 b.   जुही चावला

 c.   मंदाकनी

 d.   िश�ा शे�ी

 Answer. d
 

 94. TIME मािसका�ा २०२३ �ा जगातील सव��म कंप�ां�ा यादीतील एकमेव भारतीय कंपनी कोणती?

 

 a. इ�ोिसस

 b. टाटा क���ी स���सेस

 c. िव�ो

 d. एचसीएल टे�ॉलॉजीज

 Answer. a
 

 95. �रलाय� इंड�� ीजचे अ�� कोण आहेत?
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 a.   नीता अंबानी

 b.   मुकेश अंबानी

 c.   अिनल अंबानी

 d.   इिशता अंबानी

 Answer. b
 

 96. द रेसिलंग फेडरेशन ऑफ इंिडया (WFI) चे अ�� ि�जभूषण िसंग यांना का िनलंिबत कर�ात आले?

 

 a.   लाचखोरीचे आरोप

 b.   ओळख लपिव�ाचा आरोप

 c.   िनधीचा गैरवापर के�ाचा आरोप

 d.   ल��िगक छळ आिण पाठलाग के�ाचा आरोप

 Answer. d
 

 97. POSH चे पूण� नाव काय आहे?

 

 a.   सामािजक छळ �ितबंध

 b.   ल��िगक छळाचा िनषेध

 c.   ल��िगक छळ �ोटोकॉल

 d.   ल��िगक छळ �ितबंध

 Answer. d
 

 98. खालीलपैकी कोणते �ामी िववेकानंदांचे �िस� उ�रण (वा�) आहे?

 

 a.   "उठा, जागे �ा, आिण �ेय गाठेपय�त थांबू नका."

 b.   "िश�ण हे मनु�ाम�े आधीच असले�ा प�रपूण�तेचे �कटीकरण आहे."

 c.   "यशाचे एकमेव रह� �णजे सामा� गो�ी असामा�पणे चांग�ा �कारे करणे."
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 d.   "तुमची ��े स�ात ये�ापूव� तु�ाला ��े पाहावी लागतील."

 Answer. a
 

 99. बचत आिण गंुतवणूक यात काय फरक आहे?

 

 a.   बचत ही अशी गो� आहे जी तु�ी अ�कालीन उि��ासह करता, तर गंुतवणूक ही अशी गो� आहे जी तु�ी दीघ�कालीन उि��ासह करता.

 b.   बचत �णजे भिव�ातील वापरासाठी पैसे बाजूला ठेवणे, तर गंुतवणूक �णजे �ा पैशाचा अिधक पैसे कमव�ासाठी वापर करणे.

 

c.

  बचत ही अशी गो� आहे जी तु�ी कमी जोखमी�ा गंुतवणुकीसह करता, तर गंुतवणूक ही अशी गो� आहे जी तु�ी उ� जोखमी�ा गंुतवणुकीसह
करता.

 d.   बचत ही अशी गो� आहे जी तु�ी िल��ड गंुतवणुकीसह करता, तर गंुतवणूक ही अशी गो� आहे जी तु�ी अिल��ड गंुतवणुकीसह करता.

 Answer. b
 

 100. िफ� अँड टेिल��जन इ���ूट ऑफ इंिडया कोठे आहे?

 

 a.   मंुबई

 b.   चे�ई

 c.   पुणे

 d.   कोलकाता

 Answer. c
 

Test Answer
 

1. (b) 2. (b) 3. (a) 4. (b) 5. (c) 6. (c) 7. (a) 8. (d) 9. (c) 10. (a)

11. (b) 12. (b) 13. (b) 14. (c) 15. (b) 16. (c) 17. (b) 18. (b) 19. (c) 20. (d)

21. (b) 22. (c) 23. (d) 24. (a) 25. (b) 26. (d) 27. (d) 28. (b) 29. (a) 30. (a)

31. (d) 32. (c) 33. (c) 34. (c) 35. (c) 36. (b) 37. (b) 38. (c) 39. (b) 40. (*bouns*)

41. (d) 42. (a) 43. (a) 44. (*bouns*) 45. (d) 46. (b) 47. (a) 48. (b) 49. (b) 50. (*bouns*)

51. (*bouns*) 52. (b) 53. (a) 54. (c) 55. (a) 56. (a) 57. (a) 58. (a) 59. (*bouns*) 60. (b)

61. (d) 62. (a) 63. (c) 64. (b) 65. (d) 66. (b) 67. (c) 68. (d) 69. (a) 70. (c)

71. (b) 72. (a) 73. (d) 74. (c) 75. (c) 76. (a) 77. (d) 78. (d) 79. (d) 80. (*bouns*)

81. (b) 82. (d) 83. (a) 84. (a) 85. (b) 86. (a) 87. (d) 88. (a) 89. (b) 90. (d)

91. (c) 92. (b) 93. (d) 94. (a) 95. (b) 96. (d) 97. (d) 98. (a) 99. (b) 100. (c)


